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2) BAAHLANIL + 10 dBm
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5) ERETRE £20 %at 25°C | |
6) $BME 500 VAC 1 58 ‘ ‘ (12.5)
7) #ixiET 500 VDC 100 MQ U E ! !
8) 1 %Q%ﬁﬁtt'(:%%ff%a_—\ LTHYVET,
9) TREEBHZRIEFITREVEITDT
TTFETEL, —O—-—O— —t
- (4)>=(4)
BE #W13gr
~ — A4 7 = N =
5 AVE=-2VA(Q) | B (Q) BrEs| T8 = HHL Y SrEERABET—42 (Q/dB)
@ & P(mA) | (dB) | dB) | P:s |EAE
1R/ [ 2®/ | 1R | 2% : 0.1 03 1 10 30 50 | 70KHz
T 516 568 599 635 700 809 957
19MO1 600 | goo | 23 | 30 0 1 +10 11 @
135 | 095 07 06 07 0.9 14
cT 540 583 609 646 730 888 | 1130
19M02 coo | 300 | 29 12 0 1 +10 | 1:0705 ®
115 | 085 07 0.55 0.7 095 | 145
cT 1970 | 2040 | 2090 | 2080 | 1850 | 1800 | 2420
19M03 ke | 20K | 81 | 1060 0 1 +10 | 0316:1 ®
1 075 | 065 | 065 1 15 24
cT 1055 | 1140 | 1200 | 1275 | 1520 | 2010 | 2720
19M04 ok |8 55 | 043 0 1 +10 | 1:00837 | ®
: 124 | 084 | 074 | 054 | 064 | 094 | 149
T 540 584 610 640 668 717 800
19M05 600 | S | 26 | 58 0 1 +10 | 0708:1 @
: 12 09 065 | 055 06 0.85 13
cT 546 595 620 650 698 792 955
19M06 10K | 28 | 610 0 12 | £10 | 0245 :1 | ®
600 14 1.0 08 065 | 070 | 1.05 18
cT 1760 | 1950 | 2060 | 2195 | 2655 | 3480 | 4020
19M07 2k | 88 | 118 0 12 | £10 1:1 ®
2K 13 0.9 075 | 055 | 065 | 090 14
cT 1990 | 2060 | 2100 | 2160 | 2280 | 2510 | 2880
19M08 8K | 100 | 340 0 10 | £05 1:05 ®
2K 085 | 070 | 060 | 055 | 055 | 060 | 0.80
cT 256 276 290 310 345 405 482
19M09 8 93 | 038 0 10 | £10 | 1:0.166 ®
300 136 | 096 | 076 | 061 0.71 106 | 151
cT 543 587 620 650 715 817
19M10 600 39 | 94 0 10 | £10 | 0545 :1 | @
2K 140 | 107 | 078 | 068 | 078 | 1.08
4360 | 4850 | 5120 | 5400 | 6070 | 7640
19M11 5K | 5K | 232 | 305 0 13 | £10 1:1 @
150 | 105 | 080 | 070 | 080 | 1.05
cT 158 378 641 750 | 837
19M12 600 57 | 74 40 20 | =40 101 @
600 9.2 32 130 1.1 135
cT 207 416 610 732 | 822
19M13 600 57 | 74 40 25 | £40 1:1 @
600 73 30 16 1.25 145
S | T 465 560 608 659 769 956
19M17 G1) 36 | 47 0 15 | £15 1:1
600 | 600 21 1.45 1.1 090 | 120 | 1.80
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